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XY, Z Sle saae G 5Y Xx(YUZ)=(XxY)U(XxZ) of sl (1)

Jyad 2a ol 5 WG AN & R={(X,Y): X,yeN, x+y=2m, meN} 4kl o il (o)
N Dbl S e sanal (5503 0 5S5 J gaaadll 228 Ja 5 gl 58S
i genall e 4 ,eal R={(a,3), (a0), (b,3), (B,b), (C,C)} LDl ol 53 ) ()
T sSoca s W5 Lellana 2l ¢S5 - AL ALk ASle LS Cum 0 A={a,0,C}
o i) f(X)=2x+3, g(X)=3x2-4 b LS G yae £ NN, g N—> N ol (il (9)
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[1]~(pva)=~par~q [2] p=(pvQ) o= Sl ()
(sibie LA (PAGAL (Pv ) sl Ly ihie ciba py (] (pAQ) L of ) (@)
e S a6 A={1,234}, B={2,5,6}, U={1,2,3,4,5,6} <ils I3l (=)

A, AUB, A-B, A+B, AnB, AxB, P(B), |A|
A, B, C dle saxe &3 Y AU(BNC)=(AUB)N(AUC) of il (3)
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Xx(YuZ)={(a,b): aeX, be(Yu2Z)}
={(a,b): aeX, (beYv be2)}
={(a,b): (aeX, beY)v (aeX, be2)}
={(a,b): (a,b)e(XxY)v (a,b)e(Xx2)}
=(XxY)Uu(XxZ)
(<)
(1) --v aeN, a+a=2m (even) = (a,a)eR Aulle 483al) o2a -,
(2) .V (xy)eR = (y.X)eR Alilaie 483Mal) 08 -,

(3) -V (xYy)eR (y,2) eR x+y=2n, y+z=2m
= X+z=2n-y+2m-y=2n+2m-2y=2(n+m-y) (even) = (X,2)eR
AL A8 pda -,
ST ADIe o Akl o8 () aa (Ba Laag

[1]={1,3,5,7,... }<[3]=[5]=...
[2]1={2,4,6,8,.... }=[4]=[6]=...

Ol &n5{1,357,...}, {2,4,6,8,...} Labd (pilida SIS uluad aa gy 4] 6
{13,5,7,..3~{2,468,..}=4, {1,357,..3{2,4,68,..3=N
N A ganall d3a5 (985 J guadl) 030 )
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(1) VvV aeA (@aa)eR LuSle A3Nall ola -
(2) Vo (Xy)eR = (yX)eR Ailaie ANl oda .
(3) -V (xYy)eR, (y,2)eR= (x,2)eR A%805 43%at) s a .

LB ABSe a ABMal) o (f dad (Baw Laag
Dom(R)={a,b,c}, Range(R)={a,b,c} gall g Jlaall
ousszall R*={(a,a), (b,a), (ab), (b,b), (c.c)}
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Y X,,X

1 2eN, f(xl):f(xz) = 2X,+3=2X,+3=>X, =X
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(f 0 g)(X)=F(g(X))=2(3x2 —4)+3=6x2 —8+3=6x2 5.
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[1] ~(Pva)=~pAr~q
Pl q|~p|~q|~Prq | pvd |~(pva)
111,010 0 1 0
10|01 0 1 0
o110 0 1 0
0|0 | 1|1 1 0 1

OB & slaia gl g (ualdd) (a gand) (o JS (B il gl a0 s
~(pva)=~pr~q

[2] p=(pva)

pl q]lprva [po@mvo
1 1] 1 1
10 1 1
0 1] 1 1
0/ 0] o0 1

p=(pva) O @k Al 1 (5 gk LS p s (pv ) eIl o) gedl a0 i
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p| g prd]~perd) [ pvI(pag) | pva | ~(va) | (PAdALD (pva)
11 1 0 1 1 0 0
1[0 o 1 1 1 0 0
0/1] 0 1 1 1 0 0
olo0] o 1 1 0 1 0
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A=4, AUB={1,2,3,456}, A-B={134}
A+B=(A-B)U(B-A) ={L 3,4} {5,6} ={1 3,4,5,6}

AnB ={2}={1,3,4,5,6}

AxB={(1,2), (1,5),(1,6),(2,2), (2,5),(2,6),(3,2), (3,5),(3,6),(4,2), (4,5),(4,6)}
P(B)={B, ¢, {2}, {5}, {6}, {2,5}, {2,6}, {5,6}}.

()
AUBNC)={x: xeA v xeBnC}
={x: xeA v (xeBaxeC}
={x: (xeA v xeB) A(xeA vxeC)}
={x: xe(A UB) Axe(A UC)}
=(AuB)N(AUC)




